N R s L g FURERY o] 2019/9/25 R BBLR
[itiEazrd VR St X P BORT AR R bl Bl R Yy e —— RTE Py
TS | Z4eribe BB R X SR A A =% 4 =4etibe A
Aff | ®&H LA 2 Riva 5 6L (v 8fir
vent [onzsn| 1oom #HE AH(L) 12.28 (-1.0)| &3  =3k(1) 12.73 (-1.0)|2% J)2KA(1) 12.76 (-1.0) |8k 9IZ2(1) 12.86 (-1.0)|8& &K (1) 12.94 (-1.0)|@E A7) 12.97 (-1.0)|BA EX(1) 13.08 (-1.0)|iLim & A(1) 13.21 (-1.0)
Z&-RBFE (F) - feh - AR =% - TFH* Fe /it =B iG-S - EMAFR
onasn | 1500m il (1) 4:35.3035F 1Hsa(1) 4:38.625tLil (1) 4:53.45)/080 2(1) 4:B4TT|RF HKEQ) 5:00.48|FR (1) 5:08.10|kfT  BRER(1) 5:11.24ER  EEAS(1) 5:11.27
Ay RM-mEH - e el T Hokeh =& B BE-BLEFR ik RayEAs
v lonssn | 1oom wE BAQ) 11.42 (+1.6)| LA BEF(2) 11.67 (+1.6)|778 B (2) 11.93 (+1.6)|18E 125 (2) 12.07 (+1.6)| R BN (2) 1217 (+1.6)|&F HEK(Q2) 12.23 (+1.6)|£H #(2) 12.27 (+1.6)|B18  HH#(2) 12.34 (+1.6)
- EaFR GR|=%-%F GR|3%- #rh Z&-FEmh Z&-RF N =& FRFFR FaE-ALF
ostosn | 1500m RE O OKH(2) 4:12.98|HH  EE(2) 4:28.70[MIE  3£(2) 4:39.08|Hk  HFZF(2) 4:42.41| 5% EE5(2) 4:4331|E+E K(2) 4:46.07| 2% = (2) 4:50.21) )11 BE(2) 4:50.86
RH-Fh GR| R~ BB R - HEF RM-mEH R BHfER =& $mF EE-BLEFR 7 - A R
s rlonasn | s00m wE BAQ) w23.78 (+2.4) |78 #BEE(2) w24.02 (+2.4)|&F EK(2) w24.84 (+2.4)|HE #H=(2) w24.87 (+2.4)| 5648 HH(2) w25.32 (+2.4)|18H 12H(2) w25.39 (+2.4) | E22kE(1) w26.15 (+2.4)
mig-tah - Feeh Fe-tep - EAFR BE-ELEFR Z&-FEmh k-
on25n | 400m D FEH(2) 54.60[ AAR IA(2) 54.98|FR A2 56.37|FEA B (2) 56.82[Iid  AN(2) 58.18| MR HRiF(2) 58.72[FR  EAN(2) 5899 K(2) 59.20
Z&-Bmd GR|RH-FaF Ay =& ARFH =B ik RaEAs EE =% THF
onosn | soom RE O OKHQ) 2:05.17[KAR  HA(Q2) 2:11.06(FAE E+(2) 2:11.50[ k1T 458 (2) 2:15.02[E  FEH(2) 2:16.93|&1L E(1) 2:17.00|#58E & (2) 21727 ®HEQ2) 2:22.69
RH-Fah GR|RH-RIF RHE- R SHt- TR =&-BmF g - AR =& - THF - AR
ostosm | 3000m ful #3(2) 9:47.17(5%W 15 (2) 9:58.65[ I 3£ (2) 10:02.97[HR  EZF(2) 10:05.23|387 #se(1) 10:12.01|% K J&5#(2) 10:16.62|R0 £ 4(2) 10:25.68| H+&E K(2) 10:26.41
- e R B F&-HER Rt - RH-Fh = - e Z&-BmF
astosit | 1iom AR FHR) 17.66 (-1.8)|&F 1AM(2) 18.68 (-1.8) |11l #(2) 19.27 (-1.8)| TRk  #fF(1) 19.38 (-1.3)|3RE &EM(Q) 19.47 (-1.8)| kit #E(2) 19.83 (-1.8)[ AL ##E(2) 20.18 (-1.8)|fa#x BEA(1) 20.23 (-1.4)
RHE- B Z&-FEmh RS- R Z&-E=rh s AL - Feeh k- piaiEs
RH - A47.13| =& A FF 47.28( =% 47.99 k- 7k eR 48.86| =%+ 48.92 |- 49.24(FE% - H L 49.67|FH - ¥REH 49.78
B BRQ) Rall EAQ) ZR B AE FREQ) 1HE E2&Q) B E2k(1) RE HFAQ) B A1)
9H25H [ 4x100mR | =& 285 (2) R A #HBR) R FROENQ) FEHE AMKRB(2) EL FIEE(2) wE B Q) aE FHQ B Q)
AAR Q) Fep MEQ) %R RHR(2) ZR BEXQ) KR HH(2) K FE(2) AE - BEis2) TI% RK(2)
RE O ORHE(2) Tl A (2) A EEHR(2) RA EMQ) &F B RE EHQ) BiE FHQ) BR Q)
T — KA KQ) 1.60|XE {E(2) 1.60|HE FH(Q) 1551k BoRE(2) 1L40[NIE #4E(2) L40|E:E  #w&EQ) 1.30
k- RBEFE (F) GR|=% kIExE () GR|fgs- AL+ =GR|=%- %+ =&k - f&h
U — s N (2) w6.31 (+3.3)| K% —I(2) 5.55 (+0.1)[f&#E Fizk(2) 5.54 (+1.8)|== #%#(2) 5.24 (+0.3)|# M@ AFM(1) 5.22 (+1.2)|&=F #K(2) 5.21 (+0.1)|BE  =43(2) w5.17 (+2.8)[fH  BI5(1) 5.02 (-0.2)
Z&-KRFP (GR)| a5 - H LR =% - THFR RMf-FER Z&-RBFEE (F) - KA B IER Z&B—A
onosn | #E R 8.76[F 4 DE(2) 8.18(R9)II #(2) 8.18|A+E 3 (2) 8.01|#ul 3(2) 7.65|®HE  EHMQ2) 7.61|E A+ FEHk(2) 721 KHE  FE(1) 6.87
=& =% - TH+ FE-IER =& AREH R RHE - & &k & EHATR
&7 HRQ) 1361 KR 0 e (Q2) 1256| R HFHQ2) 1254(ER  RARR(1) 618|BE  FEZ(2) 423
9H 25 H | TUREREHE
Z%&-HBmFR =& -Hmh [eape RNl Z&B—A Z%&-HBmFR
9/25H | 110mH 18.75 (-2.4) 20.04 (-2.4) 20.49 (-2.4) DSQ 23.28 (-2.4)
9H25H | Rt 7.00 6.49 5.96 5.77 4.83
9H25H | Ampk 1.45 1.40 1.55 1.25 NM
9/25H | 400m 1:05.43 1:03.03 1:04.58 1:08.74, 1:11.65
w (wind assist) : 1B ZE

NM (No Mark) :

GR : K&y ALk

FEREEL  DSQ (DiSQualified) : Jk%
=GR : K¥ A7tk




N e e b FURERY o] 2019/9/25 R BBLR
[itiEazd SRS RNl v NN = DAl AN Yy e —— R Py
TS | Z4erhibe RS R X SR i A Wb 4 Z4etibe LA
Aff | ®&H 16z 2hr 3L i 5L 6AL he 8fir
veser onosi | 100 A &) 13.63 (+1.5)[&E =) 13.82 (+1.5)[HS 7E(1) 13.92 (+1.5)|E  #Fzk(1) 13.95 (+1.5)| =B #73(1) 14.14 (+1.9)|Fkx #FQ1) 14.16 (+1.5)|#2E  24(1) 14.40 (+1.5)|BER  #57E(1) 14.46 (+1.5)
e terp =5 EmH Fe-SHEFP - Feh EE - Feh e+ ok Rt-FER
on2sn | soom wA A1) 2:34.07(/M00 E3E(1) 2:35.42|thfe £EE(L) 2:36.39(#B R MEFI(1) 2:37.01| A4+ A1) 2:42.63 E&H(1) 2:47.69|tERE TE(1) 2:49.91)/bk 480 (1) 2:50.51
F-HHEP =& Emp RF-Fad e TR hnix - EE S =&-EBZHP =& ReR
wieser lonesn | 1oom B EEQ2) 12.57 (+1.2)|/NE  EF(2) 13.56 (+1.2)|KE IBREL(2) 13.72 (+1.2) @& % ((2) 13.76 (+1.2) |l &Y (2) 13.83 (+1.2)|&H L¥EQ) 13.87 (+1.2)[&H #A(Q) 14.03 (+1.2)
- HEHR GR|=%-Kla%E () Z&-ABEE () - 93okeR RS- PR - Feh e kR
oiosnl soom Il HLFQ2) 2:24.03(1BA&  2R(2) 2:26.69|HB ER(2) 2:35.22|/M11 BE(2) 2:36.20| L4 BRTF(2) 2:37.88|7 EH(2) 2:37.92|F  E(2) 2:3859|FEA  E#&(2) 2:38.60
R R GR|#E5# - 3R EH GR|3&- 97Kk Fe- ok - Fkh SR R R Fe- ok
st on25n | 200m B EEQ2) 26.69 (+0.9)|/\vE BE(2) 28.67 (+0.9)[&7H L) 28.81 (+0.9)[KHE H&EL(2) 29.26 (+0.9)|&H #AQ) 29.48 (+0.9)|"E ©H(2) 29.57 (+0.9)|1Ltd  HH Y (2) 29.94 (+0.9) |71l EH(2) 30.21 (+0.9)
- EHEHR GR|=%&-Kla%E () ek Z&-RBaFE (h) e ek - 9rokeR Rt-FR P RN
onasn | 1500m )l H4T(2) 5:09.89|/Mi)  E3E(1) 5:17.78|#&A A (1) 5:20.26(1BA  E2(2) 5:22.59[#HE  mERI(1) 5:23.89|/M11 3HEH(2) 5:25.34|#0 EH(2) 5:25.72|FA (2 5:35.05
R R GR|=%-5$mH F-H@EP Eip RN - Fkh Fe- ok Fe- ook Rt
oot | 100m B EEQ) 17.30 (-3.2)|Hul ERE(1) 17.80 (-3.1) |1  F4%(1) 18.78 (-1.4)[ kO (1) 19.23 (-3.1) |43 E\EQ) 19.69 (-1.4)|2A =FQ) 19.73 (-1.4)| A4 #17](2) 20.25 (-3.2)|#® ZzA1) 20.49 (-1.4)
EE - SHFP e+ ok =5 =5 R Z&-B—H =5&-RHP Rt-mR
- EHHEP 53.45 - F 54.01(%&- 97keh 54.75| 75 - R 5521 BHf-FE 56.42| 2K -FaH 56.74[ =% -8B m+ 56.91
il OE) FEE FHFQ) AtE TEQ) il R®PQ2) it ER(1) BmE EEQ0) R Q)
9H250 | 4x100mR |HH  EE(2) HH O 0EQ) BE R2H2) N FEEQ) A ER) Lo v&vW@) Al ")
8 HEQ EH ®AQ WH A1) B 2NE) FE B Q) 7 OEHQ) RE Mkl
‘S ) B #2k(1) HiE &) FI ER(2) Wi HH Y (2) #iE A1) FIEE #3E%(1)
JTU — wE Ba) 1.35|% H52) 1.30|%&  HR1EFI(2) 1.25|FHE #75(1) 1.25|AH Z5(Q) 1.20|h#H EE(2) 1.20| &2 #1EQ) 1158 FI3EE=(1) 1.15
Fe- ook =GR|3&- & AT BE-ELP =& B4 F-H@ETP BE-HLF =%&-Em$ =%&-BmF
T R — mig ##%02) 4.66 (+1.0)|8REx  /INE(Q2) 4.64 (+0.9) [ E&%(2) w4.40 (+3.3)[AE &A1) w430 (+2.40)|)F KE(Q1) w420 (+2.7) AR FRIR(2) w4.09 (+2.1)|/h 8 #EAQ2) 4.02 (+0.6)|1g1s  BZ(2) w3.93 (+2.1)
- kR B =&-B— =4 BmH Fe- /e e/t =&-AEE (R) e /Ntb R
ST - KE BB 10.86|#E  FH1E(2) 9.87|HE ==(2) 8.15||)l EH(Q) 8.05| 4K EE(2) 779l &H(Q) 7.39|/1h8  %E5(2) 72408 $HNQ) 7.21
- TR GR35 7Kk - T Fe- FALp e T Fip=RENEA Rt-mEH =%&-EBmF
on 25 | mmss WH FEER) 1988t #HIE(2) 1389|@ i RW(2) 1240[6%F  FHH(2) 1207|&2  AfE(1) 1184[fe&  BATEAI(2) 11732 B&EQ) 1072|&F #E1) 938
Fe- Aok P - F kA - IRER Z&-Bmf =4%&-BmF FaE- AL =L = L
9H25H [ 100mH 18.38 (-1.8) 19.75 (-1.8) 20.81 (-1.8) 20.25 (-1.8) 20.81 (-1.8) 30.27 (-1.8) 20.72 (-1.8) 23.08 (-1.8)
9H25H | AEmbk 1.40 1.20 1.15 1.10 1.15 1.25 1.15 1.10
9250 | faALHE 10.07 6.41 7.26 6.24 5.98 6.50 5.62 5.92
9H25H [ 200m 29.86 (+1.9) 30.37 (+1.9) 31.49 (+1.9) 30.98 (+1.9) 31.08 (+1.9) 29.59 (+1.9) 32.64 (+1.9) 31.97 (+1.9)

w (wind assist) : iBEZ#%

GR: Ry AGtdk =GR : KRaZ ik




